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Question No. 1

Rw av fwedt F & T Fr g
A) HAVE : AVEH B) LIKE : KILE
C) AWAY : WAYA D) MEET : EETM

Find the ODD one out from the given options.

A) HAVE : AVEH B) LIKE : KILE
C) AWAY : WAYA D) MEET :EETM
Answer Key : B Your Response : B (Correct)

Question No. 2

IFHAEIET F FROT FAT gIar 872
A) ufRrer B) fRed 3R S
C) ¥@Rr D) dst SJehre

Amoebiasis causes -

A) Dysentry B) Headache and cold
C) Fever D) Severe cold
Answer Key: A Your Response : A (Correct)

Question No. 3
ab?c?, a*bc 31X a®b’c? #r A.W.IG(LCM) T HifT]

A) a®*b3c?

N\ A2I2A2



Find the LCM of ab?c?, a?bc and a®b3c2.

A) a®b’c? B) abc
C) a?b?*c? D) a®b’c®
Answer Key : A Your Response : B (Wrong)

Question No. 4

T fARET FHomr #, ‘pre nat bis' T Aol 'smoking is harmful' &, 'vog dor nat' T Hclerel
‘avoid harmful habit' &, 3{¥ 'dor bis yel' @I Hcdeld ‘please avoid smokingsl 3HI FHesmsT
fifaf@a & & fraer #Adaa "habit' glem?

A) dor B) vog

C) nat D) bis

In a certain language, 'pre nat bis' means ‘smoking is harmful', 'vog dor nat' means 'avoid
harmful habit', and 'dor bis yel' means 'please avoid smoking'. Which of the following means
'habit' in that language?

A) dor B) vog
C) nat D) bis
Answer Key : B Your Response : B (Correct)

Question No. 5

3T FIT AP Aell W qged AN Pl YU & WA Th @1 & &t 3T S
A) drer B) &rerr
C) g D) drel
Unsaturated carbon compounds will give a flame with lots of black smoke.
A) Yellow B) Blue
C) Green D) Red
Answer Key : A Your Response : A (Correct)
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TS Al R 9 B FAAGT I 8 : 3 & U H g1 12 It & are, IARY Y FT T 2 : 1
grem| Al AR A& A aciATT 3 FT AT R B2

A) 74 ¥ B) 69 aw
C) 66 aw D) 71 a¥

The present age of a mother and daughter is in the ratio of 8 : 3. After 12 years, the ratio of their
ages will be 2 : 1. What is the sum of the present age of the mother and the daughter?

A) 74 years B) 69 years
C) 66 years D) 71 years
Answer Key : C Your Response : C (Correct)

Question No. 7

Uk Folel 3R el & TR T BIsasl 1 39 (3.5, &, 3k Sarsat &
AT f2:4/6. &, @ 3eTh AT 1 ST AT FIFIT?

A) B)

0 D)

Theradii of the basesof a cylinder and cone are in the ratio f3..5.

Theirheights are in the ratio 2 : 5. Whatis the ratio of their volumes?

A)



Jg!\"@ 3-\@\&

0 D)

343:2 2443 :3

Answer Key : C Your Response : C (Correct)

Question No. 8

U fARET Fesmwr &, 'PSHO' &I 'FIRE' fowr Siar &, 38 Hesmwr & 'KQDS' & H& for
SIRET?

A) AGNI B) BAVO

C) CARD D) WIRE

In a certain code, 'PSHO' is coded as 'FIRE'. How would 'KQDS' be coded?

A) AGNI B) BAVO
C) CARD D) WIRE
Answer Key : A Your Response : A (Correct)

Question No. 9

P 3R Q Sl Us GedihR AMT HT Teh el Hol: 4 fRere 3R 7 e # qu & &1 9 &
Ay T @ Ng & Slear ¥ W & 59 Q 7 12 TR @ W AT g, a 9 fhdeh IR Ry
afE F (i) woreT formm o, (ii) ool fom 3 als @ &

A) (i) 9, (i) 12 B) (i) 9, (i) 8

C) (i) 9, (i) 33 D) (i) 6, (i)18

P and Q run along

i ife g._tesnecti_v_el_\f. They start from the
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A) (i) 9, (i) 12 B) (i) 9, (i) 8
C) ()9, (i) 33 D) (i) 86, (ii)18

Answer Key : C Your Response : Not Answered

Question No. 10

@ Aol & sty eR-wag A ffeT

RZ, BX, FU, (.), NL

Find the missing group of alphabets in the following series.

RZ, BX, FU, (...), NL

A) GS B) UN
C) JQ D) SL
Answer Key : C Your Response : C (Correct)

Question No. 11

fAeifaf@a wea &, fFe ax el ik deasit § § 5l & #1 sgaa W adeor Ggfad
grem?

7+2-4+1=6
A) + 3R-; 2 3R 4 B) = 3R +; 7 3R 4
C) - 3R +; 23K 1 D) + 3R +; 23R 7

In the following question, which one of the four interchanges in signs and numbers would make

the given equation c e/ l




7+2-4+1=6

A) +and-;2and4 B) +and+;7and 4
C) -~and +;2and 1 D) +and+;2and7
Answer Key : A Your Response : A (Correct)

Question No. 12

@ ¥ BP9 fhhe @S o thfeadT J9 7 v 9t & Haif®F & el a1 RPrE
TARIT?

A) afee dgae B) favrc aigelr
C) Ufga =T D) enfgc 3Hcr

Which of the following cricketers set a record for most runs in an ODI single game?

A) Sachin Tendulkar B) Virat Kholi
C) Rohit Sharma D) Shahid Afridi
Answer Key : C Your Response : C (Correct)

Question No. 13

ffaf@d SR @ &I § 9¢ 3R s T 310 me & 3ca} &)

3 xR, R, a1, %W, 31, Agel, W] 3N HrwrRr vk diFa 7 35 § Twd & § 316
e T T FREAT ¢ ¥ ¢ IR FA F W R § F 7ol s e A R g Brw ge §

T & T A Tl W A g1 a1 AR e & e o safFa §1 Rg AR smemr ww q@
F qore A IS § W], Felror 3R T QAT F qoreT A TG For § ] AT R el T W
er 38 g1 Rg 3R merer, &t & 9 dew Hir Folf W A 3 §) Vg Ak R F = Faar
e & fEd dor §1 3, R & @ 3R (S 3 AN ) 36 §, AR =W, VT F S qorer
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Aefaf@d & ¥ T T Fa¥ arelr F W Sor &7

A) g
C) Ra

o]

B) #HelsT

D) 311

2

Read the following information carefully and answer the question given below.

Eight friends—Manoj, Ritu, Banu, Rishi, Anu, Rohan, Sonu and Akash sit in a row having chairs

numbered one to eight in ascending order from left to right. They all are facing north direction.

Banu sits on the chair numbered six. There are exactly two persons between Banu and Mano;.

Ritu and Akash always sit adjacent to each other. Sonu sits adjacent to neither Manoj nor Banu.
Anu never sits on a chair having an odd number on it. Neither Ritu nor Akash sits on chair
numbered four. There is only one person between Rohan and Ritu. Anu sits on the right (not an
immediate right) of Rishi, and Rishi never sits adjacent to Rohan.

Who among the following sits on a chair which is having an even number on it?

A) Rohan
C) Ritu

Answer Key : D

SR FT e, I T B

B) Manoj

D) Anu

Your Response : Not Answered

Question No. 14

A) goTe B) g
C) TSTEYTT D) Icc we&er
The Jaisalmer Fort is located in-

A) Punjab B) Tamil Nadu

C) Rajasthan

Answer Key : C

D) Uttar Pradesh

Your Response : D (Wrong)

gstiq_n »No. 15
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Follcsh TIHR T Igoll S-IGeid IRASET g
A) A B) S-ziiurer

C) 3181 D) &5 fgam

is the first e-governance project of the Government of Karnataka in land records
Computerization system.

A) Bhoomi B) E-choupal
C) Akshaya D) Nai Disha
Answer Key : A Your Response : Not Answered

Question No. 16

Aofr @ ot |

15, 8, 20, 18, 25, 28, (..)
A) 32 B) 35

C) 37 D) 30

Complete the series.

15, 8, 20, 18, 25, 28, (...)

A) 32 B) 35
C) 37 D) 30
Answer Key : D Your Response : D (Correct)

Question No. 17

2.00589 # 5 I TAAT AT AT hiiAT|

A) 5/100




Find the place value of 5 in 2.00589.

A) 5/100 B) 5
C) 5/1000 D) 5/10
Answer Key : C Your Response : C (Correct)

Question No. 18

sin 3A cos3A
" smnA  cost

T HITeIT

A) B)
1/3 -2
0 D)
2 3
. . in 3A cos3A
g Lifo- sin ;
implify simA cosA
A) B)

1/3 -

L2

0 D)




L2
o

Answer Key : C Your Response : C (Correct)

Question No. 19
frafaf@a # & i @ smare g # gog iR 359 qurEer # g §7
A) @Il B) foe=T U= arell
C) 3Tu U9 drell D) QX

Which of the following sounds is pleasant to hear and is of rich quality?

A) Music B) Low pitch
C) High pitch D) Noise
Answer Key : A Your Response : A (Correct)

Question No. 20

e denfas & ‘g LAl e galeRer @1 ufadee frar?

A) ITE B) 3ToiFoisy FolfHaT
C) dred sifdet D) 3geteh =gcsT

Which scientist formulated 'the theory of Evolution'?

A) Aristotle B) Alexander Fleming
C) Charles Darwin D) Issac Newton
Answer Key : C Your Response : C (Correct)

Question No. 21

UssTs, FIGE & 3ok A §, 3R TqUarg A1 & aRae # R 31 doree & ande, dawrag fFra
foer & fRua &2

- ¥ el TR I = Fve s ey [ Y /
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C) uiegH D) 3ca® qd

Chennai is at the north of Bengaluru; and Hyderabad is located to the west of Chennai. With
respect to Bengaluru, in which direction is Hyderabad located?

A) South B) North west
C) West D) North east
Answer Key : B Your Response : B (Correct)

Question No. 22

IARSFT FoH T ufaad wfa Fd W S ) dlel ST s=ii i FEJr g

A) 1000 B) 10
C) 100 D) 10000
Crude birth rate is the number of live births per _____ people each year.
A) 1000 B) 10
C) 100 D) 10000
Answer Key : A Your Response : Not Answered

Question No. 23
frfaf@d # & foFa & A Tm9er 1971 & g8 4
A) Hreiet B) wdTer
C) dreceer D) ¥ereT

Which of the following countries was formed in 19717

A) Sri Lanka B) Nepal
C) Bangladesh D) Bhutan
Answer Key : C Your Response : C (Correct)

Question No. 24

- ¥ el TR I = Fve s ey [ Y /
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A) 3w B) $edre

C) ssfea D) srEehcalel

With which of the following games is Nomura Cup associated?

A) Golf B) Football
C) Badminton D) Basketball
Answer Key : A Your Response : Not Answered

Question No. 25

Ifg aReTH, 3ea¥ & ST § 3R 3R, @ & v § 3R A yeR |l fRnd sger S €, o
gfaror 9Res & T 9T Fier W fRm gefr?

A) gfgror B) 3ecR @
C) ufRa# D) 3cak 9fdas

If west becomes north and north becomes east and so on, what will be the south west?

A) South B) North east
C) West D) North west
Answer Key : D Your Response : Not Answered

Question No. 26

FIS AR TIRYT sATST Hr & 9 2 auf 7 $.2800 3K 5 auf & $.3250 g s 1 &Ry 3k
SATST &Y AT |

A) %.3000 3R 15% B) %.2000 3R 5%

C) %2500 3R 6% D) %.1000 3R 10%

A sum of money at Simple Interest amounts to Rs.2800 in 2 years and Rs.3250 in 5 years. Find
the sum and the rate of interest.

A) Rs.3000 and 15% B) Rs.2000 and 5%

C) Rs.2500 and 6% D) Rs.1000 and 10%
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Question No. 27

3W NPT H TIA W, S HAeAendd A0 & @i & wEw &
Fafead o1 ¥ fawioa &L

HIAT, 9=, AT, oar

A) B)

0 D)

Choose the figure that best represents the relationship among the
classes given below.
Mother, Children, Human, Father

A) B)

0 D)

Answer Key : A Your Response : B (Wrong)




(1) 10% 3K 20% #Hr FAF Tel

(2) 20% 3R 10% Fr FHAF Tl
A) 20% 3R 10% T HiAH Bel B) alsil HAMT g
C) frea =gt fonar T FeheTr B D) 10% 3R 20% #T %iA®w el

Which is better?

(1) Successive discounts of 10% and 20%

(2) Successive discounts of 20% and 10%

A) Successive discounts of 20% and 10% B) Both are same
C) Cannot be determined D) Successive discounts of 10% and 20%
Answer Key : B Your Response : B (Correct)

Question No. 29

el ¢eRIRr 9T 10 9Y 91 HEUROT A1 %.600 gRM IfE 5 a¥ oI HeereT & ofiel =T 9aT
feamr Sirar &, o 10 9 918 Fer ST e grem?

A) %.900 B) %.1200

C) %.300 D) %.600

The Simple Interest on a sum of money will be Rs.600 after 10 years. If the principal is
increased three times after 5 years, what will be the total interest at the end of 10 years?

A) Rs.900 B) Rs.1200
C) Rs.300 D) Rs.600
Answer Key : B Your Response : A (Wrong)

Question No. 30

T L | Ny /
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3R 1T G FRAT| S FHA QO EI;N, 79 P AR Q g@Rr R C FE T IHeard F4r §?
A) 2:1 B) 3:2

C) 2:3 D) 2:5

P and Q can do some work individually in 8 and 16 days respectively. They work together and
completed the work. What is the ratio of work done by P and Q, when the work was completed?

A) 2:1 B) 3:2
C) 2:3 D) 2:5
Answer Key : A Your Response : A (Correct)

Question No. 31

gl I Hag FT Phead agHse H W Her o 82

A) TAATYHUSH(Stratosphere) B) T¥eHSH(Lithosphere)

C) @W(Asthenosphere) D) &fisrHausa(Troposphere)

The layer of atmosphere closest to the earth surface is the-

A) Stratosphere B) Lithosphere
C) Asthenosphere D) Trophospere
Answer Key : D Your Response : D (Correct)

Question No. 32

A A T AT §, AR @ar d
A) & B) 3tFd
C) ofaur D) @faer

Lemon juice tastes sour because it contains-
A) Bases B) Acids

C) Salts D) Minerals

Answer Kev : B IS e o e i st it o Sl Y,/ bet)




Question No. 33

10 afFgar & T 3mASdT fr 715 th ReflAs & ¥ 2 FFa Fea v ReRe F 1 @ 3696
GART SRIST-SRIST AR AT Ser a7l & SAfFaal & Aea e & a5 9% Afed & ey #
3 e T A forcer gferie #r gig gei?

A) 15% B) 25%

C) 20% D) 12%

From a picnic arranged for 10 persons, 2 opted out. The expenses had to be equally shared by
them. What is the percentage increase in the expenses of each person after the two left?

A) 15% B) 25%
C) 20% D) 12%
Answer Key : B Your Response : Not Answered

Question No. 34

30 foweT & F99 &, A AHid H ¥ e (7) & T W W
S % fore wafeasr 39gwd 2l

289\

¥ 318 B

324

0 D)

312

336

W\ g fves, [ /



Choose the alternative that best replaces the question mark(?) in the

oiven figure.

A 318 B)
324

© D312

336
Answer Key : B Your Response : B (Correct)
Question No. 35

A 3 ST T ST & R 3aTever 872

A) F9TAgaT (Redox) 3Af&ATRAT B) HaIeleT AJfAfhar

C) 3erilerenior AfAferar D) 319ees 3ffafhar

Rusting of iron is an example of-

A) Redox reaction B) Combination reaction
C) Neutralisation reaction D) Decomposition reaction
Answer Key : A Your Response : B (Wrong)

Question No. 36

waﬁrmwxssoglam AT F 20% ¢ Siafe YT saw, fshr @ 5% &1 For R




C) 2.470 D) %.486.50

The cost of an article is Rs.380. The profit is 20% of the cost while packing expenses are 5% of
the sales. Find the net selling price.

A) Rs.480 B) Rs.510
C) Rs.470 D) Rs.486.50
Answer Key : A Your Response : D (Wrong)

Question No. 37

T 1w Rredt & § T F: T
A) HI - A B) U - &I
C) oIme - grfey D) SfwH - #cg

Find the ODD one out from the given options.

A) Heavy - Fat B) Near - Away
C) Profit - Loss D) Birth - Death
Answer Key : A Your Response : A (Correct)

Question No. 38

&1 75 3MMepial H fohaal Feger 87

A) B)




0 D)

]

=1

How many triangles are there in the given figure?

A) B) A
8
0) D) .
5
T
Answer Key : D Your Response : D (Correct)

Question No. 39

fRefaf@d 3 & il ar 3w Fef@e C @r 98 3mqfet wewer Fwar 82

A) 31T B) @We ol

C) el D) #HH

Which of the following gives you a large supply of vitamin C?
A) Potatoes B) Citrus fruits

C) Bananas D) Meat

=7 .
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Question No. 40
fReafaf@a & @ =l a1 JqeT (root) Heslr 76T 872

A) Felr B) THRI

C) MR D) SRt

Which of the following is NOT a root vegetable?

A) Radish B) Tomato
C) Carrot D) Turnip
Answer Key : B Your Response : B (Correct)

Question No. 41

ar Seml T 3 K AT IR IR HAT: 9 AR 1§ Brder THT Uger IeTehr Y H oA 3: 2
ar?

A) 1 a B) 4 a¥
C) 3 ay D) 2 a¥

Sum and difference of the ages of two kids are 9 and 1 respectively. How long ago were their
ages in the ratio 3 : 27

A) 1 year B) 4 years
C) 3years D) 2years
Answer Key : D Your Response : Not Answered

Question No. 42

IR =n A "' FT THEG 3F TH NI AT g, AN 1 T 9 Frdcm & g X & A9 &
A) 2,3, 4,5 B) 3,5,7

C) 1,5, 3 D) 3,5, 7, 8

If X3 = n and the units digit of n is a pnme number, what are the possible choices for 'x' among

thAa mimmahAara fram 1 -|l A Mmmwﬁn g (:,"‘1‘." ';‘2“‘“” _ S":"\' ety YAJ ]




A) 2,3,4,5 B) 3,5,7
C) 1,5,3 D) 3,5,7,8

Answer Key : D Your Response : B (Wrong)

Question No. 43
oYvT 9 F e Refaf@a 7 & sl ar w1 wfeT 82

A) TH AR T B U Slorg § O Seg of B) HiA Welell
ST

C) clarsl &l gdeld D) 3frer TIERAR & BT I Telell

Which of the following becomes difficult without a frictional force?

A) Moving a heavy box from one place to B) Playing carrom

another
C) The movement of door D) Walking on a wet marble floor
Answer Key : D Your Response : D (Correct)

Question No. 44
faffiest W & Fel & AT FT FAT FgT ST 87
A) WIS B) @ fpforatetrel
C) I ShafFre D) Faa& fasmei(Histology)

The study of different types of tissues is called -

A) Cytology B) Cell physiology
C) Cell biology D) Histology
Answer Key : D Your Response : D (Correct)

Question No. 45

TRIAE R ARTEART, 2019 F #RT o fFday Taol yes sha?

A) 21 __B) 16

o 5 Wy I = i
| o0 P Pl e gl 0 S A P L
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How many gold medals did India win at the Asian Airgun Championships, 2019?

A) 21 B) 16
C) 37 D) 30
Answer Key : B Your Response : Not Answered

Question No. 46

ar ' P 3R Q U gy & 400 At HY gff W EI P ¥ TF R Q Fr 3R 50 Aer gfey g fr
AT § Tl YE el &1 75 T & a1, o AR FR Q § P HT 3K 40 Hier 9faq 9 Hir =l
¥ IoleTl YE Pl §1 T FaT 918 Y Ae=h?

A) 5 & B) 4 & 30 e
C) 4 & D) 2 ®er 45 fiere

Two places—P and Q are 400 miles apart. A car starts from P at a speed of 50 mph towards Q.
After 75 minutes, another car starts from Q to P at a speed of 40 mph. At what time will the cars
meet?

A) 5 hours B) 4 hours 30 minutes
C) 4 hours D) 2 hours 45 minutes
Answer Key : A Your Response : D (Wrong)

Question No. 47

fret T & 34 Higar I &7 ¥ AT Higar arer &9 # S #r gl AT gl
A) FETeT B) ZeduTdeT
C) fawror D) arsdreor

The movement of a substance from an area of high concentration to an area of low
concentration is known as-

A) Condensation B) Sublimation
C) Diffusion D) Evaporation
Answer Key : C _ ________Your Response : C (Correct)
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Aol Fr qUT H|

25, 125, 62.5, 250, 125, 375, (..)
A) 187.5 B) 185

C) 175.7 D) 165

Complete the series.

25, 125, 62.5, 250, 125, 375, (...)

A) 187.5 B) 185
C) 175.7 D) 165
Answer Key : A Your Response : Not Answered

Question No. 49
3H GATH & AT AT e fadhr dearg 24 a4, disg 18 J 3R 3915 16 G+ B
A) 5184 HEHRE B) 7142 ¥R
C) 7089 TEHR® D) 6912 #dwes®

Find the volume of the cuboid whose length is 24 cm, breadth is 18 cm and height is 16 cm.

A) 5184 cm? B) 7142 cm®
C) 7089 cm? D) 6912 cm?®
Answer Key : D Your Response : D (Correct)

Question No. 50

ar 3 AT IU T IS TEAT AT HifST)

A) 91




Find the largest two-digit prime number.

A) 9 B) 93
C) 89 D) 97
Answer Key : D Your Response : Not Answered

Question No. 51

Al 3R G TREF F T A FFAE FU A F OHAET AUROT FAHE FT 3YAT
I & T Fed A F 7 & Yy TFar 51 ghar g

A) 3T gt B) WIfSIHA ErSsirdrss
C) soId & T D) sellt<dT 9138

Common salt besides being used as condiment and food preservative can also be used as the
raw material for making-

A) Baking soda B) Sodium hydroxide
C) All of the options D) Bleaching powder
Answer Key : C Your Response : B (Wrong)

Question No. 52
I gfare FHRtor & aT AT a IR B E, 56l a + B = 8 3 a - B = 2, o FHOT &
A) X2 -8x +15 =0 B) X2+ 8x-15=0

C) x* - 8x-15 =0 D) 2 + 8x + 15 = 0

If the two roots of a quadratic equation are a, B where a + B = 8 and a - B = 2, then the equation

is:
A) x2-8x+15=0 B) x*+8x-15=0
C) x¥*-8x-15=0 D) x*+8x+15=0
Answer Key : A Your Response : A (Correct)

Question No. 53

- ¥ el TR I = Fve s ey [ Y /
| e P P g R S A PR TR R 44




I €1 31 3mara et @R AT siia didr i A9 afer T g 872
A) s g8 B) WMHAY edfer

C) 3m#ed(Infra sonic) D) @ U=

When a sound producing source moves with a speed higher than the sound, shock waves are
produced in air. What is the very sharp and loud sound produced by these shock waves called?

A) Sonic boom B) Normal sound
C) Infra sonic D) Sonic thunder
Answer Key : A Your Response : A (Correct)

Question No. 54

| Hifere: \/10+\/25+\/108+1/154+J2_2§

A) B)

o) D)

Simplify: 10+«\/25-+\/108+-,,)154+@

A)




0 D)

Answer Key : D Your Response : D (Correct)

Question No. 55

Aol i quT H|

ZW,T,Q ()
A) O B) S

C) P D) N

Complete the series.

Z,WTAQ,0¢(..)
A) O B) S
C) P D) N
Answer Key : D Your Response : D (Correct)

Question No. 56

UNO & HEITHT T ggel Afgar 3reweT Reifaf@a & @ i Ai?

A) TasTgere#r dfsd B) &S Algg
g W, A el o I, I 1 *v

.~



Who among the following was the first woman President of the General Assembly of UNO?

A) Vijayalakshmi Pandit B) Sarojini Naidu
C) Chonira Belliappa Muthamma D) Annie Besant
Answer Key : A Your Response : A (Correct)

Question No. 57
T eafel e Hr IgicT 50 g<or € 3R FuHr AT ST 4 M &) tafer FETr A Arer ekl g2
A) 400 FX / TFs B) 80 #HieX / Ahs
C) 100 #HeX / T&s D) 200 #Hex / Ahg

The frequency of a sound wave is 50 Hz and its wavelength is 4 m. What is the speed of the
sound wave?

A) 400 m/s B) 80 m/s
C) 100 m/s D) 200 m/s
Answer Key : D Your Response : D (Correct)

Question No. 58

T 1w Rredt F § T F G
A) 61 B) 37
C) 19 D) 27

Find the ODD one out from the given options.

A) 61 B) 37
C) 19 D) 27
Answer Key : D Your Response : Not Answered

Question No. 59

eafey T Grer AETH & ot T e B

3?!3:-1 @' Hgﬁ e » P o T, W T N /
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The speed of the sound depends upon the properties of the medium.

A) All of the options B) Pressure
C) Temperature D) Elasticity
Answer Key: A Your Response : A (Correct)

Question No. 60

175, 56 3ix 70 =1 A.F.I(HCF) w1a Hifaw|
A) 35 B) 5

C) 7 D) 70

Find the HCF of 175, 56 and 70.

A) 35 B) 5
C) 7 D) 70
Answer Key : C Your Response : D (Wrong)

Question No. 61

R & S8 & A9 39% Rar i 37 38 a¥ o 309 4 9§ 8k A€ F T F A 3GH A
T 37 36 a¥ | 3R Al 356 Aar § raa af s §2

A) 8 B) 4

C) 6 D) 5

Priya's father was 38 years of age when she was born. Her mother was 36 when her brother 4
years younger to her was born. How many years is her mother younger than her father?

A) 8 B) 4
C) 6 D) 5
Answer Key : C Your Response : Not Answered

Question No. 62

.
" ¥ el I i =] Joes ey 1) Ny /
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C) CNG D) rrem

Which of the following is NOT a fossil source of energy?

A) Cow dung cakes B) Kerosene oil
C) CNG D) Coal
Answer Key : A Your Response : A (Correct)

Question No. 63
Aleta IR T {EH F97 MR 30T HiT @ g7

A) 3R B) er

C) &&d D) IFad

Which is the largest internal organ in the human body?

A) Pancreas B) Kidneys
C) Heart D) Liver
Answer Key : D Your Response : D (Correct)

Question No. 64

'fIRT 9ATeRYT Ra®’ Ha HATIT 1T 82
A) 5 S B) 25 #dFe¥
C) 5 eIrs D) 27 3mred

When is 'World Environment Day' observed?

A) June 5 B) November 25
C) July b D) August 27
Answer Key : A Your Response : A (Correct)

Question No. 65

P & 500 &
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Hifawl
A) 68% B) 80%

C) 75% D) 72%

P gets 360 marks out of a total score of 500. Marks of P are 10% less than Q's score. Q got
25% more than R, and R got 20% less than S. What is the percentage marks of S?

A) 68% B) 80%
C) 75% D) 72%
Answer Key : B Your Response : B (Correct)

Question No. 66
feif?=-B & ae@ @9g W &l
A) e B) arel

C) 3drat D) &«

is the richest source of Vitamin-B.

A) Biscuits B) Pulses
C) Cereals D) Apple
Answer Key : C Your Response : C (Correct)

Question No. 67

ffaf@d Jofr & oo dEar A fifew|

2, 4, 16, 96, (..), 7680
A) 773 B) 752

C) 768 D) 796




2, 4,16, 96, (...), 7680

A) 773 B) 752
C) 768 D) 796
Answer Key : C Your Response : C (Correct)

Question No. 68

s W FieT W arg ¥ 7 MIRF T8 32
A) gsar B) 3uri&A(Cartilage)
C) arsad D) ¢3o1

Which of these is an anatomical cavity filled with air?

A) Bone B) Cartilage
C) Sinus D) Tendon
Answer Key : C Your Response : C (Correct)

Question No. 69
fafaf@a & O Fas BT & Qv nfFRAs F Rgia F1 v fFar s 82

A) FX B) &al$ STETel
C) Yedged! D) ¢&

3 <

Archimedes principle is used to design which of the following?

A) Cars B) Aircraft
C) Submarines D) Trucks
Answer Key : C Your Response : C (Correct)

Question No. 70




CT 71T fShest H § 98 AP Id, AT AR &G0 A0 S Fr [ HAr
arl

A) B)

0 D)

Choose from the alternmatives the figure that best completes the
pattern given below.

A) B)

0 D)

TR S Iy Wt ey T S gt o D el ]
I A RN P SR AT W 2 S S ST o P s L e




Answer Key : D Your Response : D (Correct)

Question No. 71

fefaf@a Aoft & o wer A fEw|

25, 52, 27, (...), 29, 92

Find the missing number in the following series.

25, 52, 27, (...), 29, 92

A) 72 B) 92
C) 82 D) 62
Answer Key: A Your Response : A (Correct)

Question No. 72
g ARl T &ifas 9fFd S AT Tl 1T 82
A) @TRofr B) @ g

o

C) w@n D) 3mad

The horizontal row of the periodic table is called the-

A) Table B) Group
C) Column D) Period
Answer Key : D Your Response : D (Correct)

Question No. 73
AT T T AR 5ot Auada _ 9fd [Ree g B

A) 50-100 B) 90-100

C) 100-120




The normal human heart-beat per minute on an average is -

A) 50-100 B) 90-100
C) 100-120 D) 60-100
Answer Key : D Your Response : D (Correct)

Question No. 74

e T Ao AT RT AT FoEw WG A O w?

3T T Thell : TSTEATT =2 3fsicl T AT @ ?
A) el B) Tafdsra

C) HERISE D) fogR

Which word will best complete the relationship given below?

Amber Palace : Rajasthan :: Ajanta Caves : ?

A) Kerala B) Sikkim
C) Maharashtra D) Bihar
Answer Key : C Your Response : C (Correct)

Question No. 75
Ifg 0.001 + x = 0.01 &, d X' & AR A R
A) 01 B) 0.5

C) 0.01 D) 1

If 0.001 + x = 0.01, then find 'X..
A) 0.1 B) 0.5
C) 0.01 D) 1

Answer Key : A




K LMN X Y3RZoHreH I f 3 AN T e & qd @ wW el L,
AIFIRATY FRATHAGTEI M J P RTHGTE AT ZFH 6N N, ZF Forer H
T g XFE 3N IMN AT RE K X F o1 § @er § 31k M & a1 3% =9l v
el

Tfaf@a & ¥ il K & aF 31 I T W s 87
A Y B) M

Cc) J D) L

Read the following information carefully and answer the question given below.

J, K, L, M, N, X, Y and Z are playing a game standing in a circle facing outwards. L is neither
the neighbour of J nor of Y. M is the neighbour of J but not of Z. N is the neighbour of Z and is
third to the right of X. K'is the neighbour of X and fourth to the left of M.

Who among the following stands third to the right of K?

A) Y B) M
C) J D) L
Answer Key : D Your Response : Not Answered

Question No. 77

e ;Rer 7 FHlsg T9@ F37 FRFET(organelle) i AT &2

A) HTECIhIT=3aT B) 3fed: geeay SfelT(Endoplasmic
reticulum)
SEGIEED D) dlesil A

- — e T el o T -7
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A) Mitochondria B) Endoplasmic reticulum
C) Nucleus D) Golgi body

Answer Key : C Your Response : C (Correct)

Question No. 78

v faRed gesmar F, 'TABLE' # 'WDEOH' for@r iiar §, 3¢ Hesmr & 'SKY' & & forar
SIRE?

A) TBN B) NYB

C) VNB D) BNY

In a certain code, 'TABLE' is written as "WDEOH'. How would 'SKY" be written in that code?

A) TBN B) NYB
C) VNB D) BNY
Answer Key : C Your Response : C (Correct)

Question No. 79

I HY : cos 6/(1 + sin 0)
A) sec 6 + tan 6 B) cosec 6 + cot 6

C) cosec 6 - cot 6 D) sec 6 - tan 6

Simplify: cos 6/(1 + sin 0)

A) secO +tan B) cosec 8 + cot 6
C) cosec 6 -cotB D) secB-tan 6
Answer Key : D Your Response : Not Answered

Question No. 80




A) B)

2 1
C) D)
0 1
a,b_ i .
If =+ ==1, thenfind a3+ b?.
b a

A) B)
2 1
C) D)
0 1
Answer Key : C Your Response : B (Wrong)

Question No. 81

TfE A = 30°, @ cos® A + cos? (60° + A) + cos? (60° - A) Tl HIT AT
FIST

A)




0 D)

If A = 30°, thenfind the value of cos® A + cos® (60° + A) + cos® (60°- A).

A) B)
3
2 1
0 D)
3 3
2 2
Answer Key : C Your Response : C (Correct)

Question No. 82

feraarsT fra 51 & ac W Rua &2
A) SEAYT B) hTair
C) Feom D) dredr

\Jiiavawarda ie lnrata



A) Brahmaputra B) Cauvery
C) Krishna D) Tapti

Answer Key : C Your Response : C (Correct)

Question No. 83

TgEr R e I ITeleT F §7
A) e a3 B) urd ey
C) g et D) &S et

Which of these religions do the Jews follow?

A) Jainism B) Zoroastrianism
C) Judaism D) Christianity
Answer Key : C Your Response : B (Wrong)

Question No. 84
TR 3TUR 7 fAeafaf@d & & fraer sqaler fRar s 82
A) bg B) =%

C) &9 D) et

Which of the following is used in acupuncture treatment?

A) Needles B) Knives
C) Cups D) Thread
Answer Key : A Your Response : C (Wrong)

Question No. 85

T JHadel GUOT $HG WA 5 Fel A gff W & 1 avg W 3 I IEd aRdafdE g
3edee el §1 VAT gdor & T Rael gff W feua 87

A) 15 @Fr B) 10 &#T
C) 20 @y

N O

- ¥ el TR o~ [ = T oy 16 15 N /
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A concave mirror produces 3 times magnified real image of an object placed at 5 cm in front of
it. At what distance from the front of the mirror is the image located?

A) 15cm B) 10cm
C) 20cm D) 5cm
Answer Key : A Your Response : D (Wrong)

Question No. 86

121, 92
- 7=
3 3
A) B)
12 13
41— i
13 4011
0 D)
6 11
= 43—
4011 19
. . 2 2
Sunphﬁx17;+f%-
°3 3
A) B)
12 13
41— -
13 4011

0)




4558 451l

Answer Key : C Your Response : B (Wrong)

Question No. 87

FieT dr HEr A fRw v Feer wr gafeaw o F ot Fef?

9:20::21:7?
A) 102 B) 44
C) 131 D) 97

Which number will best complete the relationship given below?

9:20::21:7

A) 102 B) 44

C) 131 D) 97

Answer Key : B Your Response : Not Answered

Question No. 88

I & FAAT TSI HleT 82

A) it yare &g B) Sefariarel qRifgd

C) fdeg@mR @ D) P. Hefias

Who is the present Governor of Kerala?




C) Vidyasagar Rao D) P. Sathasivam

Answer Key : D Your Response : Not Answered

Question No. 89

FieT G IH Fgar ¢ B TaafaE AT F goTA AT S o ar 3cUeT [RAT ST Hehar g 3 A
& 5T FaT ST HehaT §7

A) egche Ul #T fge B) GocIdTe TR&T0T & &g
C) TR 3rurey &1 faus D) FiT €&T0T & s

Which law states that mass can neither be created nor destroyed in a chemical reaction?

A) Law of Reciprocal proportion B) Law of Conservation of mass
C) Law of Constant proportions D) Law of Conservation of energy
Answer Key : B Your Response : B (Correct)

Question No. 90

72 TRy weT S IFAR A =elel arell 110 HIeT el TWEmsr ' 132 FeT ofar Jol IR A H
frcter wHT e 82

A) 14.3 ¥Fs B) 12.42 %z
C) 9.8 WFs D) 12.1 &3

How long does a train 110 m long running at a speed of 72 km/h take to cross a bridge 132
metres in length?

A) 14.3 seconds B) 12.42 seconds
C) 9.8 seconds D) 12.1 seconds
Answer Key : D Your Response : D (Correct)

Question No. 91

FEIOAT Jles F9 FF QT F HOT 872
A) TMewH B) fohehc

- 5w = i I e R ¥ xd, /
2 Gl ey e e Rty e i i b e s B p E BT ‘J
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With which sport is Murugappa Gold Cup associated?

A) Golf B) Cricket
C) Badminton D) Hockey
Answer Key : D Your Response : Not Answered

Question No. 92

faege e T 9aTE &l
A) TehTer B) dr=ir
C) faega masit D) a3t

Electric current is the flow of-

A) Light B) Water
C) Electric charges D) Waves
Answer Key : C Your Response : C (Correct)

Question No. 93

P IS F1H 4 € # HT Fhel g1 Q 3 R AR g8 1 & 3 6 & QU T Fohdl ¢ Siafh P
IR R 3 2 €6 7 qU FN Fhd §1 I Q 3rFer TH FH B F@T 8, df 39 SH HH H QA
FA H Fhder 7T P9m?

A) 8 e B) 10 €&
C) 12 & D) 15 &

P can do some work in 4 hours. Q and R together can finish it in 3 hours while P and R can do
it in 2 hours. How long will Q take to complete it, if he works alone?

A) 8 hours B) 10 hours
C) 12 hours D) 15 hours
Answer Key : C Your Response : C (Correct)

Question No. 94




CRICH

1) T dverT fEs gl
2) F& e A9eT ¢l
3) el FreEE T &

fsmy:

. & Tl ATeIT §l

Il. F& BT T E

lll. wefr et Fher §
V. $& ddueid T 4T &

A) dae fashy |, 1l 3R I 39T & B) shael faseny | 3R IV 3uged €l
C) wael sy I, Il 3R IV 3uged g D) el fasewy (Il 3R IV 39

In this question, three statements are given followed by four conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) All laptops are keyboards.
2) Some printers are laptops.
3) All keyboards are scanners.

Conclusions:

I. Some scanners are laptops.

Il. Some printers are scanners.

lll. All laptops are scanners.

IV. Some laptops are not scanners.

A) Only conclusions I, Il and Il follow B) Only conclusions | and IV follow
C) Only conclusions I, lll and IV follow D) Only conclusions Il and IV follow
Answer Key : A Your Response : A (Correct)

Question No. 95

S(Bohr) ¥ Ragia #




C) Uiy FIaT D) Far

Which of the following is discrete in Bohr's theory?

A) Linear momentum B) Velocity
C) Angular momentum D) Energy
Answer Key : D Your Response : C (Wrong)

Question No. 96

59 e #, A FYa QT v § S a1g v sy o arm g1 39 Rwe @ 9o S Ru aw
forsnd r 3R g g

YT
1) PIIST FeaT FT AT ¢
2) &1 FET T WA

oSy

X Fier

A) Heprer =T FhY T B B) fAeprem T Ay vmEfEE g1
C) fAehrer a1 vy AREd &9 & TEY B D) fArer = Ay Toad: T gl

In this question, two statements are given followed by a conclusion. Find out which of the
alternatives justifies the given conclusion.

Statements:
1) Coals are atoms of carbon.
2) Diamonds are atoms of carbon.

Conclusion:
Diamonds are coal.

A) The conclusion drawn is false B) The conclusion drawn is irrelevant
C) The conclusion drawn is definitely true D) The conclusion drawn is probably true
Answer Key: A [ e D ng)




Question No. 97

Aeaesoe Ay 9w $ TH Yool W FI HIfEIT FF 39 ST T IGO0 A
gl

A) drer B) STE&dT

C) dier D) TegFfeas

Galvanisation is a method of protecting iron from rusting by coating it with a thin layer of-

A) Copper B) Zinc
C) Silver D) Aluminium
Answer Key : B Your Response : B (Correct)

Question No. 98

AT Sl e arel & QIFESTHA AT GRFHA 40T g &
A) FsffFaies e B) Ueehlgel
C) Teslgss D) Tl

Soaps are sodium or potassium salts of long chain-

A) Carboxylic acid B) Alcohols
C) Aldehydes D) Esters
Answer Key : A Your Response : D (Wrong)

Question No. 99

Th T HT ST P 20% Solet T ST &%l k% o6 ST g1 'K' T AT Al Hifoe|
A) 24 B) 36

C) 20 D) 44

If the side of a square is increased by 20%, its area is increased by k%. Find the value of 'k'.




Question No. 100
farafaf@a 7 & fFaar 2019 #F sIRa $r Ugelr g8-CF BT od FI 3ured fHar?
A) T 9y B) fafder srssir
C) sy g D) 3AT HRdT

Who among the following inaugurated India’s first hi-tech forensic lab in 20197
A) Suresh Prabhu B) Nitin Gadkari

C) Rajnath Singh D) Uma Bharti

Answer Key : C Your Response : Not Answered




